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Question No T is compulsory.
Attempt five questions in all.

1. Attempt any five of the following : 3x2=10

(@) The V-C bond lengths in {V(CO),] and [V(CO),]" are

200 pm and 193 pm respectively. Give reason.
()Y  Why do silicones act as water repellants ?

{¢) The B-N bond in borazine is less polar than what
is expected on the basis of electronegativity difference.
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Why do clay minerals cleave into thin sheets ?
Why is Zn° not precipitated as ZnS on passing H,S
in group I of gualuative analysis ?
Why are some metal jons essential and some non-essen-

tial in the biosystem ?

Myoglobin has greater affinity for oxvgen than haemo-

globin. Justify,

What is meant by ionophores 7 Lxplain the working of

the Sodium Potassium Pump diagrammatically. 3

Urea is a base in water but an acid in liquid ammonia.

Assign a reason for this, 2
Define postprecipitation and coprecipitation. 2

Faplain Synergic effect. How does it explain the
formation of carbonyl complexes of transition metals
in ‘ow oxidation states ? Explain by referring 10 MO

diagram of CO.
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Why is a drop of concentrated HNO, added to the
vroup Il centrifugate before testing for group |

cations 7 2

What are silicone rubbers 7 What happens when they

are heated in presence of air and absence of air 7 2

o will vou test for the following ions in presence of

cach other ? 4
i) Cu and C&
(1) N(G, and NG,

What are the special properties of zine which make @t

an excellent biocatalyst ? 2

Give an example of an amphoteric reaction in liquid
amnonia. "
Why capnot ferrocene be nitrated 7 How will vou
prepare the nitro-derivative ? 2
Despile having similar physicai properties the chemical
praperties of borazine and benzene are different. Hiustrate
with exumples. 25
How decs transierrin aid in transportation of iron 7 2.5

PTO.



~1

(c)

{5

[}

(t!]

{c}

(4 916

L

Why is (NPCly); less aromatic than benzene ?

Why is ammonium chleride needed along with ammonium

(%)

hyvdrovide to precipitate cations of Group 111 7
Why are mica minerals harder than walc minerals 7 2

Which of the following obey EAN rule (any three)

3
() Cogl0)
tun CnC H)(CO),
(i) Fe{nC HL) (CO}
Livh FL‘[CO): (NO)E.
What is Fuller's carth ® What are its uses 7 2

Which of the following act as acids/bases in liquid

ammonia ? 2
(i) Urey

i) PbNH

ti) BN

¢y NHCL
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